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% Problem 3

w=-100:.5:100;

figure(1),title("PS06, problem 3%),subplot(2,1,1)
plot(w,abs(4./7(4+w.*w))),xlabel ("freq (w, rps)"),ylabel("magnitude®)
grid on

subplot(2,1,2)

plot(w,angle(4./(4+w_*w))) ,xlabel ("freq (w, rps)”),ylabel("phase (rad)")
grid on

Bandwidth is f, — 1, where f; is the freq where magnitude falls to 0.707 of its max value, and f, = 0.
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% Practice problems 3.3, # 1

t=-10:.01:10;

Ffigure(1),plot(t,2*cos(3*t)+sin(5*t)) ,xlabel ("time (sec)"),ylabel("amplitude®)
grid on,title("Practice Problem 1%)

% Practice problems 3.3, # 4

t=-10:.0001:10;

Ffigure(1),plot(t,cos(3*t).*cos(20*t)) ,xlabel ("time (sec)"),ylabel("amplitude®)
grid on, axis([-10 10 -1.2 1.2]),title("Practice Problem 4%)
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